Title: Retaining Walls Replacement in Antioch, CA (P.W. 368-5R)

Bids to be received by 2:00 p.m. November 8, 2016 Office of the City Clerk, City Hall, Antioch, CA

# SCHEDULE OF BID PRICES

Item No.	Qty	Unit	Description	Unit Price in Figures	Unit Price Extended
1.	1	LS	Mobilization, complete in place for the lump sum price	\$17,683.00	\$17,683.
2.	1	LS	Traffic Control System, complete in place for the lump sum price.	\$ 5,981.00	\$ 5,981.0
3.	:4	LS	Clearing and grubbing, including demo existing wood retaining wall and concrete foundation, complete in place for the lump sum price	\$10,282.00	\$10,282.
4.	1,800	SF	Install new Keystone wall at James Donlon Blvd., including foundation, drain pipe, Greogrid reinforcement, excavation and backfill, complete in place for the unit price per square foot	\$ 49.10	\$88,380.
5.	225	SF	Install new Keystone wall at Contra Loma Blvd., including foundation, drain pipe, excavation and backfill, complete in place for the unit price per square foot	\$49.10	\$11,047.5
			TOTAL BID PRICE;	\$ /33,37	13.50

TOTAL BID PRICE: THREE HUNDRED SEVENTY THREE 2 50/100 DOLLARS (Written in Words)

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Signature of Bidder

S.R.P. COMPANY

**Company Name Printed** 

#### LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1.			
2.			16
3.			
4.		۵	
5.			
6.			2
7.			
8.			
9.			8
10.			
11.	٠		
12.			
13.		١	
14.			
15,		\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	4

**END LIST OF SUBCONTRACTORS** 

Title: Retaining Walls Replacement in Antioch, CA (P.W. 368-5R)

Bids to be received by 2:00 p.m. November 8, 2016 Office of the City Clerk, City Hall, Antioch, CA

### SCHEDULE OF BID PRICES

Item No.	Qty	Unit	Description	Unit Price in Figures	Unit Price Extended
1.	1	LS	Mobilization, complete in place for the lump sum price	\$ 12,500.00	\$ 12,500.00
2,	1	LS	Traffic Control System, complete in place for the lump sum price.		\$ 12,500.00
3.	1	LS	Clearing and grubbing, including demo existing wood retaining wall and concrete foundation, complete in place for the lump sum price	\$30,000.00	\$30,000.00
4.	1,800	SF	Install new Keystone wall at James Donlon Blvd., including foundation, drain pipe, Greogrid reinforcement, excavation and backfill, complete in place for the unit price per square foot	\$ 39.00	\$ 70,200.00
5.	225	SF	Install new Keystone wall at Contra Loma Blvd., including foundation, drain pipe, excavation and backfill, complete in place for the unit price per square foot	\$ 50.00	\$ 11,250.00
		NS <sub>2</sub>	TOTAL BID PRICE:	\$ 136,450.0	00

TOTAL BID PRICE: One hundred thirty six thousand, four hundred and fifty
(Written in Words)

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Signature of Bidder

Parsons Walls

Company Name Printed

company mamo i micou

### LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1.			
2.		-	
3.			
4.		,	
5.			0
6.			
7.		\	8
8.		, (	
9.	n 28	7	
10.			9
11.	(4		* 1
12.	ı		
13.	F	ć I	N .
14.	9		
15.			1

Title: Retaining Walls Replacement in Antioch, CA (P.W. 368-5R)

Bids to be received by 2:00 p.m. November 8, 2016 Office of the City Clerk, City Hall, Antioch, CA

## SCHEDULE OF BID PRICES

Item No.	Qty	Unit	Description	Unit Price in Figures	Unit Price Extended	
1	4	ĻS	Mobilization, complete in place for the lump sum price	\$ 4,000.	\$ 4,000	
2,	1 ,	LS	Traffic Control System, complete in place for the lump sum price.	\$16,000.00	\$16,000.00	
3	1	LIS	Clearing and grubbing, including demo existing wood retaining wall and concrete foundation, complete in place for the lump sum price	\$29,000.00	\$29,000.00	
4.	1,800	:SF	Install new Keystone wall at James Donion Blvd., including foundation, drain pipe, Greogrid reinforcement, excavation and backfill, complete in place for the unit price per square foot	\$49,00	\$88,200.00	
6	225	SF	Install new Keystone wall at Contra Loma Bivd., including foundation, drain pipe, expavation and backfill, complete in place for the unit price per square foot	\$55.00	\$12,375.0	
		'n	TOTAL BID PRIGE;	\$ 149,5	75.	

TOTAL BID PRICE: One hundred Forty winc thousand hundred seventy five and no/100 (Written in Words)

All costs associated with the work required in the Plans and Specifications must be included in the big items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary (Acomplete the work, in place and in full working order.

Signature of Bidder

T'N B Construction

Company Name Printed

### LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary,

NAME OF SUBCONTRACTOR	LICENSE NUMBER	LOCATION OF PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1 Wayne E Swisher Cement	378838	2620 E 18th St., Antioch	50%
Ž.			
3.	,		
4.	.4		
5;			
6.		,	
7,		,	``
8.			
ġ.			
10,			
11.			-
12.		1	
19.		,	
14.			2
75.	The tree		, , , , , , , , , , , , , , , , , , ,

END LIST OF SUBCONTRACTORS